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8 A syntax error can occur when writing a program.

 (a) State what is meant by a syntax error, giving an example.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................

 .............................................................................................................................................. [2]

 (b) Describe tools and facilities available in an integrated development environment (IDE) which 
can help the programmer to identify and correct syntax errors.

 ...................................................................................................................................................

 ...................................................................................................................................................

 ...................................................................................................................................................
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